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Sampling and Analysis of Needles and Leaves

1. sample trees 2009

At each site there are 2 sets of sample trees, each set consisting of 9 trees. The set is sampled every second year. For analysis a composite sample is made by mixing equal quantities of 3 trees, separating the needles in age classes. After analysis a mean value is calculated for each element.
Table 1: sample trees 2009

	plot
	sample trees 2009

	301
	mean value of 9 trees (P4, P5, P6, P77, P78, P79, P80, P81, P82) 



	304
	mean value of 9 trees (P1, P2, P3, P78, P79, P83, P80, P81, P82)


	306
	mean value of 9 trees (P1, P5, P6, P77, P78, P79, P80, P81, P82) 



	308
	mean value of 9 trees (P2, P5, P6, P77, P78, P79, P80, P81, P82


	604
	mean value of 9 trees (BP30, BP 31, BP32, BP25, BP26, BP6, BP1, BP23, BP24


	606
	mean value of 9 trees (BP4, BP15, BP22, BP13, BP25, BP26, BP27, BP28, BP11


	607
	mean value of 9 trees (BP10, BP22, BP23, BP14, BP18 BP19, BP12, BP25, BP26)
 

	608
	mean value of 9 trees (BP1, BP7, BP8, BP5, BP6 BP18, BP12, BP13, BP14


	609
	mean value of 9 trees (P19, P5, P6, P7, P8, P20, P13, P14, P15) 


	302
	mean value of 9 trees (P12, P13, P14, P15, P16, P17, P18, P19, P20) 



	303
	mean value of 9 trees (P44, P55, P66, P74, P75, P76, P84, P85, P86) 



	305
	mean value of 9 trees (P4, P77, P6, P86, P55, P66, P74, P75, P76) 



	307
	mean value of 9 trees (P4, P5, P6, P44, P55, P66, P74, P75, P76) 



	1501
	mean value of 9 trees (P1, P2, P3, P56, P57, P58, P59, P60, P61) 



	1502
	mean value of 9 trees (P6, P7, P8, P12, P13, P14, P15, P16, P17) 




In general the tree numbers (crown condition) are submitted. In some cases, the sample trees have no tree numbers in the field, they are marked with a given number preceded by an P (e.g. P74).
2. quantification/detection limit

calculation for the data submission

Pb, Cd: 2/3 of quantification limit, 1/2 of detection limit
If the mean value is <than quantification limit (FOL_QA) than -1 is submitted
3. nutrient budget plots
In case total nutrient budget in a plot is to be determined for the evergreen species the older needles (older than current+1) were analysed.

Pine: Plot 307, 1501, 1502

The third year needles (current+2) were analysed separately. Older than third year needles did not occur. Mixing the needles of 3 trees for analysis not every tree had 50 % of the original needles in the current+2 needle age class present. 

Spruce: Plot 303

The third year needles (current+2) were analysed separately. Older needles (current+3, current+4, current+5, current+6 did occur) were mixed for analysis. Mixing the needles of 3 trees for analysis not every tree had 50 % of the original needles in every needle age class present. A mixing of equal quantities of each needle age class was not possible.
For the data submission the results of the older needles were calculated:

Result of the third year needles (current+2) + [(result of the older needles) x 4] / 5 = result of the older needles (older than current+1). 

